
1) 0.1 × 3 = 0.3 5) 32 ÷ 8 = 4

100 × 5 = 500 49 ÷ 0.7 = 70

6 × 1 = 6 10.8 ÷ 12 = 0.9

0.2 × 5 = 1 0.004 ÷ 0.4 = 0.01

80 × 1 = 80 10 700 ÷ 7 = 100

2) 50% of 800 = 400 6) 1200 = 7200 ÷ 6

25% × 240 = 60 11 = 3.3 ÷ 0.3

10% of 6 = 0.6 1000 = 30000 ÷ 30

5% × 200 = 10 0.02 = 0.002 ÷ 0.1

1% × 160 = 1.6 10 = 5 ÷ 0.5

3) 10 × 10 = 100 7) 5/4 × 82 = 80

10 × 0.02 = 0.2 1/8 of 43 = 8

0.3 × 8 = 2.4 1/7 × 12/5 =0.342857142857143

0.11 × 0.05 = 0.0055 3/11 × 5/7 =0.194805194805195

2 × 30 = 60 6/100 of 120 = 7.2

4) 100 = 2 × 50 8) 5/144 = 5/12 ÷ 12

0.03 = 0.1 × 0.3 0 = 0 ÷ 1/9

18 = 0.06 × 300 0.0888888888888889= 4/9 ÷ 5

90 = 1000 × 0.09 960 = 80 ÷ 1/12

1.2 = 10 × 0.12 43/35 = 8.6 ÷ 7

Ultimate Kryptonite Sheet A Name: Score:



1) 0.1 × 3 = 0.3 5) 32 ÷ 8 = 4

100 × 5 = 500 49 ÷ 0.7 = 70

6 × 1 = 6 10.8 ÷ 12 = 0.9

0.2 × 5 = 1 0.004 ÷ 0.4 = 1/100

80 × 1 = 80 700 ÷ 7 = 100

2) 50% × 800 = 400 6) 1200 = 7200 ÷ 6

25% × 240 = 60 11 = 3.3 ÷ 0.3

10% × 6 = 0.6 1000 = 30000 ÷ 30

5% × 200 = 10 0.02 = 0.002 ÷ 0.1

1% × 160 = 1.6 10 = 5 ÷ 0.5

3) 10 × 10 = 100 7) 5/4 × 82 = 80

10 × 0.02 = 0.2 1/8 of 43 = 8

0.3 × 8 = 2.4 1/7 × 12/5 = 12/35

0.11 × 0.05 = 0.0055 3/11 × 5/7 = 15/77

2 × 30 = 60 6/100 of 120 = 7.2

4) 100 = 2 × 50 8) 5/144 = 5/12 ÷ 12

0.03 = 0.1 × 0.3 0 = 0 ÷ 1/9

18 = 0.06 × 300 4/45 = 4/9 ÷ 5

90 = 1000 × 0.09 960 = 80 ÷ 1/12

1.2 = 10 × 0.12 43/35 = 8 3/5 ÷ 7
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